BERBRERFBRE=FIT

RAEGFHLARFF11EDHER
(SMTE9A248~108108EHE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BIESS | EHRERAEME (1 Sv/h)
_— N-E
No. | Tk X% NEZT BE | soom | (h-aBOFiE) e
m S0 %10@
RERR FERER
50cm 0.07 0.08
YAV INRKR—Y L5 HE G
m 0.07 0.08
50cm 0.07 0.08
) LDOFHEES
m 0.07 0.08
50cm 0.08 0.08
10818 KIZLI5EES
im 0.08 0.09
50cm 0.06 0.07
HWENREEREIES
im 0.06 0.07
50cm 0.07 0.08
BRIG RAIETEG
im 0.08 0.08
50cm 0.07 0.07
1082A BRi5EY BT E 5
im 0.07 0.07
50cm 0.06 0.07
1 wem LEAER |HOFREEHLE 10A1A [ b iiE I RIEE = 15
im 0.06 0.06
50cm 0.08 0.08
10A2H [ bR iE T AR E 15
im 0.08 0.08
50cm 0.08 0.08
AEEEIS
im 0.08 0.08
50cm 0.08 0.08
At EEES
im 0.08 0.08
50cm 0.07 0.07
10818 AR—YA R NEIGEHES
im 0.07 0.07
50cm 0.07 0.08
S=Z BMILIGEEG
im 0.07 0.07
50cm 0.06 0.07
BAFRIGEHS
im 0.06 0.07
50cm 0.11 0.12
THEIRS
im 0.11 0.11
2 | fEBW | EMAE |FEAE 10R18 e
50cm 0.09 0.10
Tk
im 0.09 0.10
50cm 0.09 0.08
3 'ET ERAR |ANESAE 9A308
im 0.09 0.08
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EERREMSGHEE-4UJHRE EHLAREF11E)FER
(SMTE9A248~108 108 EHE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE N EAM (RF NI

BIESS | EHRERAEE (1 Sv/h)
= NEF
HETA &5 AEE ST BE | soom | (P-aBOT L) e
m | _sE | siom
RERR FERER
50cm 0.18 0.13
=Em EFRAE | NERESLE 10A78
im 0.17 0.13
50cm 0.14 0.12
DAVRYRIG-TEEEY DILEG
im 0.13 0.12
50cm 0.12 0.12
'/Em EBAR |HEAR 94308 HOHRELRIG - bU-CHDLES
im 0.12 0.12
50cm 0.12 0.13
WILWDLEE
im 0.12 0.13
50cm 0.09 0.09
'/Em ERAR |FHPRNE 9H25H
im 0.08 0.09
50cm 0.11 0.10
'/Em ERAR |SEEBLE 10A3A
im 0.10 0.10
50cm 0.11 0.10
=Em ERAR |BRAE 10A28
im 0.11 0.09
50cm 0.11 0.11
'/Em EFBAR (MBAR 1084A
im 0.11 0.11
50cm 0.12 0.13
=Em ERAE |(BEIEFE20E 10A8H
im 0.12 0.13
50cm 0.10 0.09
=E™ AEBAE |FEREE1LE 9A8308
im 0.09 0.09
50cm 0.11 0.09
=Em EAE |RINIEE1AE 1084H
im 0.11 0.09
50cm 0.08 0.08
Z BHLE
im 0.09 0.07
w'E™M b /N e I e /N 10888 L]
50cm 0.10 0.09
eI 35
im 0.09 0.10
50cm 0.16 0.16
'/Em AR |HERTHRABEBER | 10838
im 0.15 0.15
50cm 0.12 0.14
'/E™M ERARE | BERILAER 9A308
im 0.12 0.14
50cm 0.13 0.14
B/Em EBEAR | SKLEEPRAE 9A/27H
1m 0.13 0.14
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(SMTE9A248~108108EHE)

AEEHARFEF 11 EDHER

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (L Sv/h)
. NE S
No. | AT N INAEZL: BZ | soom | (h-amOFHE) %
. 5@ %10M
FERFR REMER
50cm 0.1 0.12
17 =T EBEAR |HohbhAHDOYLE 10A7AH
1m 0.11 0.12
50cm 0.08 0.08
18 =T HwENR |+RNE2E 9A30H
1m 0.07 0.08
50cm 0.28 0.28
SROZF(TFTALFVY)
1m 0.27 0.28
50cm 0.11 0.11 B
19 | EEW | KEAR |[EXULHE oR258 —— T T L I
50cm 0.11 0.11
&K
1m 0.11 0.11
50cm 0.10 0.1
20 =T HWEAR |FEEHLE 9H24H
1m 0.10 0.10
50cm 0.1 0.10
21 =T WEAR |EXFRLE 10A2H
1m 0.11 0.10
50cm 0.10 0.10
22 E=1=hi HWEAE |TEEAE 10A4H
1m 0.10 0.10
50cm 0.09 0.09
23 =T HWXAR |SHAEAR 10A7H
1m 0.09 0.09
50cm 0.16 0.18
24 =T HMEAE |ER&Z 10A3H
1m 0.16 0.17
50cm 0.14 0.15
LU-FRE ZEDLEG
1m 0.13 0.14
25 EaW HWRAE | A 20FELE 9HF25R R
50cm 0.08 0.08
% BMILS
1m 0.08 0.08
50cm 0.12 0.13
26 =T skttt |EETHRH 10838
1m 0.12 0.12
50cm 0.09 0.10
27 =T #Mdkih  |E/ARILERH 10A9H
1m 0.09 0.10
50cm 0.09 0.07
28 =T Mz |FIEBLE 10848 F10EILAEZEL 7 #xith
1m 0.09 0.08
50cm 0.13 0.13
29 =T iz |RIEBLE 10838 E10ENEFR TR IR
1m 0.13 0.13
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EERREMSHEE-4U VT HRE EHLAREF11E)FER
(SMTE9A248~108108EHE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BIESS | EHRERAEE (1 Sv/h)
_— L
AT X% INEZT BZ | soom | (h-amOFHE) s
m ! %10[
RERR FERER
50cm 0.11 0.10 %’10@@%%%:%9&7&%&&@
E;j
im 0.11 0.09 |EFEki5
BRW | EMAE |EX,-ERAEHAE | 0F25H e
50cm 0.10 0.09
Yuh—i5
im 0.10 0.09
50cm 0.11 0.11
wem Mkt | EIRETRRHD 10A4AR
im 0.11 0.11
50cm 0.13 0.13
wem gt (RN AKLE 9A25H
im 0.13 0.13
50cm 0.10 0.11
wem s | KHBTHkHE 10A4AR
im 0.11 0.10
50cm 0.12 0.12
AEFEAIO
im 0.12 0.12
50cm 0.10 0.11
NE R0
im 0.10 0.10
50cm 0.10 0.11
YNE3EE©)
im 0.10 0.11
50cm 0.11 0.12
YNE L)
im 0.11 0.11
50cm 0.12 0.12
wem i |HxREkit 10A2A YNELEe)
im 0.12 0.12
50cm 0.11 0.11
YNE RO
im 0.11 0.11
50cm 0.11 0.12
ARAEAIO
im 0.11 0.12
50cm 0.12 0.12
NEEIR L)
im 0.12 0.12
50cm 0.11 0.11
YNEEIRLE))
im 0.11 0.11
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HAEGEFHFARSFE11EDER

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (L Sv/h)
e NE S
No. | ThETH K4 INFEZ R BZ | soom | (h-amOFHE) =
m S0 %10@
FERFR HEER
50cm 0.16 0.14
% BRI
1m 0.16 0.15
50cm 0.11 0.13
KRERR Y
1m 0.12 0.13
50cm 0.11 0.10 .
35 =T Mk | TEEHLE 9827H IS—=HTIWT5
im 0.11 0.11
50cm 0.10 0.10
F—brR—ILi5
1m 0.10 0.10
50cm 0.09 0.10
G5 RTNTH
1m 0.09 0.10
50cm 0.10 0.10
NE]
1m 0.09 0.10
36 =t sk |/\iBRit 9H26H e
50cm 0.16 0.16
F—brR—ILi5
1m 0.14 0.16
50cm 0.12 0.1
37 =T #Hmzt |)IEREHLE 9A25H
1m 0.12 0.11
50cm 0.10 0.10
38 =T Mkt |FKkrDESHLE 9H24H
im 0.09 0.11
50cm 0.09 0.09
39 =T kx| EmRFi 9F27H
# = 1m 0.08 0.09
50cm 0.09 0.1
40 =T Mkt |RRXGEBLE 9A25H
1m 0.10 0.11
50cm 0.10 0.09
4 =T ikttt | =K 10A38
® : im 010 0.09
50cm 0.17 0.17
42 =T ERThARH | YR ATET R it 1084AR
1m 0.16 0.16
50cm 0.11 0.10
NEEIRL]
1m 0.11 0.10
50cm 0.10 0.10
43 [=1=T kx| ERKZH 10838 NELES
1m 0.10 0.10
50cm 0.11 0.10
NE[aR])
im 0.11 0.11
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EERREMSHEE-4U VT HRE EHLAREF11E)FER
(SMTE9A248~108108EHE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BIESS | EHRERAEE (1 Sv/h)
_— L
AT X% INEZT BZ | soom | (h-amOFHE) e
m ! %10[
RERR FERER
50cm 0.12 0.12
BT i | FE Ok 1084H
im 0.11 0.12
50cm 0.08 0.10
wem EfEH | IRk 9A/27H
im 0.09 0.10
50cm 0.20 0.21
wem Mkt | ENRESLE 9A/27H
im 0.19 0.21
50cm 0.08 0.09
wem s | EIRERATRR 9A/27H
im 0.08 0.08
50cm 0.14 0.15
=ET s |[EBEIEFE1LE 1088H
im 0.14 0.14
50cm 0.09 0.08
BT ks |EE&R 10818
im 0.09 0.08
50cm 0.14 0.14
BT it | HSCERKLE 1088H
im 0.14 0.15
50cm 0.11 0.11
Z BHLE
im 0.11 0.11
BT | B |[FEIxF2AR 10A88 .
50cm 0.09 0.09
Pl 3T
im 0.09 0.10
50cm 0.11 0.12
wem fHmzt |[EEHLE 9H26H
im 0.11 0.12
50cm 0.11 0.12
TF
im 0.11 0.12
50cm 0.10 0.10
NELL: ()
im 0.10 0.10
50cm 0.13 0.13
NELiL ()
im 0.13 0.14
BEW | BE&E RIS ATNAE | 10898 e
50cm 0.12 0.13
YNELES
im 0.12 0.13
50cm 0.11 0.11
AERAIO
im 0.11 0.12
50cm 0.13 0.15
AERAIO
im 0.13 0.15
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EERREMSHEE-4U VT HRE EHLAREF11E)FER
(SMTE9A248~108108EHE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BIESS | ZHBRERAEE (1 Sv/h)
s NEE
HETA R4 INAELL BZ | soom | (h-amOFHE) =
m 4@ %10m]
RERER RERR
50cm 0.13 0.13
wem Mkt |FEHAR 10A18
1m 0.13 0.13
50cm 0.11 0.11
wem Mz |FE0ELE 10A78
1m 0.10 0.11
50cm 0.08
=T fMkkih  |ERAERZH 10A3H FE10EIFTEFICKYBIERT
1m 0.08
NN N 4 50cm 0.09 0.10
e | smge [o7 P HRSNELE g0
m 0.09 0.09
50cm 0.19 0.18
=T BMHEM |2Svt0AIE 1083A
1m 0.18 0.17
50cm 0.12 0.12
=T Mkt |ERZATAILE 10A4H
1m 0.12 0.12
50cm 0.10 0.09
=T BRBAR |BREREHLE 10A3H
m 0.09 0.09
50cm 0.09 0.13
=T ABAR |BHEBHLE 9R25R
m 0.10 0.14
50cm 0.09 0.10
wem AHAR |#E/LUAE 98268
1m 0.09 0.10
50cm 017 0.16
mAREETIVT
1m 0.16 0.16
50cm 0.16 0.17
HREBEEIUT
1m 0.16 0.17
'ET ABAE |FRWUAE 1088A ]
50cm 0.14 0.13
hRBEESTIUT
1m 0.13 0.13
50cm 0.21 0.20
RAFEENETIVT
m 0.19 0.20
50cm 0.11 0.11
wem WELNR | KHFRLLE 10A9H
m 0.11 0.11
50cm 0.10 0.1
=T BRBAR |REBEHLE 9/ 308
1m 0.10 0.11
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[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (L Sv/h)
- NEE
No. | ThETH K4 INCETL BZ | soom | (h-amOFHE) =
. 5@ #10E
FERFR RERR
50cm 0.10 0.10
it
im 0.09 0.10
50cm 0.11 0.12
66 =T ABAR |BELAR 1083A felC ol /N
im 0.11 0.11
50cm 0.12 0.12
Z/FE LG
1m 0.11 0.12
50cm 0.09 0.10
67 =T #HEAR |HRAE 10878
1m 0.09 0.09
50cm 0.07 0.07
68 =T #HEAR |RHLE 10878
1m 0.07 0.07
50cm 0.09 0.08
69 =T #HEAR |EXBELR 1082AR
1m 0.09 0.08
50cm 0.10 0.10
70 BEm #HELAR | KHFRLE 1089A
im 0.09 0.10
50cm 0.17 0.19
71 BEm #HERAR BB 1083A
im 0.17 0.18
50cm 0.09 0.09
72 =T #HEAR |EXRAR 1083A
1m 0.09 0.09
50cm 0.10 0.10
73 BEm HEAR |ERLE 98308
1m 0.10 0.10
50cm 0.10 0.1
74 [=1=T HEAE |MEAE 9H24H
im 0.10 0.10
50cm 0.09 0.10
75 BEm HERAR |FEILLE 9H24H
im 0.09 0.10
50cm 0.12 0.14
76 [=1=T HEAR |hELE 9A30H
1m 0.11 0.13
50cm 0.11 0.12
77 =T HERAR |FALE 9827H
1m 0.11 0.11
50cm 0.09 0.09
78 =T HEAR |EXHF12E 10A2H
1m 0.09 0.09
50cm 0.10 0.09
79 =T #HEAR |EXF20E 10A3H
im 0.10 0.09
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EERREMSHEE-4U VT HRE EHLAREF11E)FER
(SMTE9A248~108108EHE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (L Sv/h)
— NE S
FHET AT K4 NEERH BZ | soom | (h-amOFHE) =
. 5@ #10E
FERFR REMER
50cm 0.09 0.09
=T HEAR |EXHEILE 1084AR
1m 0.10 0.09
50cm 0.11 0.11
=T #HERLAR (AR 10A4H
im 0.11 0.11
50cm 0.11 0.11
=T #HEAR |[&RoBE 1084AR
im 0.11 0.11
50cm 0.09 0.10
=T #HEAR |NEHAR 9A25H
1m 0.09 0.10
50cm 0.10 0.1
=T #HELAR |SHAR 9826H
1m 0.10 0.11
50cm 0.09 0.09
=T #HELAR |HBLE 9826H
1m 0.08 0.09
50cm 0.09 0.09
BEm HERAR |R#oE 9826H
1m 0.09 0.09
50cm 0.11 0.13
=T HERAR |MEALE 10878
1m 0.12 0.12
50cm 0.09 0.10
=T #HEAR |HREAR 10878
1m 0.09 0.10
50cm 0.09 0.09 | - =
mRm | HRAE |FAEAE 10R9H Z1OBAET LM SAHRER
1m 0.08 0.08
50cm 0.15 0.16
=T #HEAR |[ELU~E 10878
1m 0.15 0.16
50cm 0.08 0.09
=T HEAR |RAZZHPRAE 1089A
1m 0.08 0.10
50cm 0.09 0.09
=T HEAE |RAZZILE 10A9H
1m 0.09 0.10
50cm 0.11 0.12
=T HRAR |[dRX2E 10878
1m 0.11 0.12
50cm 0.12 0.13
=T HERAR |EiaoBE 1083A
1m 0.12 0.13
50cm 0.08 0.08
=T HEAR |REFE14E 10A8H
1m 0.08 0.08
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FF DK ER bt F AL (REHRID)
BERKEXMRAL (RFHI)
BESS | ZHRERAEE (L Sv/h)
. NE S
No. |  hETH K4 NEERH BE | soom | (hs-aBOFIE) EE
fm 5@ %10
FERFR REMER
50cm 0.08 0.08
96 BEm HEAR |HEFE20E 10A8H
1m 0.08 0.08
50cm 0.08 0.08
97 BEm HERAR |HEEILE 1088H
1m 0.07 0.07
50cm 0.08 0.08
98 BEm HEAR |HEFE4ILE 10A8H
1m 0.08 0.08
50cm 0.08 0.09
99 =T #HELAR |RRAE 9A25H
1m 0.09 0.09
50cm 0.11 0.11
100 BEm #HELAR |REAR 1082AR
1m 0.12 0.11
50cm 0.11 0.11
101 BEm HERAR |ERLE 1082AR
1m 0.11 0.11
50cm 0.10 0.10
102 BEm #HEAR |EHAR 1082AR
1m 0.11 0.10
50cm 0.10 0.10
103 BEm #HEAR |EEcE 1082AR
1m 0.10 0.09
50cm 0.11 0.11
104 BEm #HEAR |HXIEFLE 10878
1m 0.11 0.11
50cm 0.09 0.09
105 BEm HRAR |StALE 1083A
1m 0.09 0.09
50cm 0.10 0.10
106 BEm HEAR |BAXETAE 1084AR
1m 0.10 0.10
50cm 0.08 0.10
107 [=1=T HEAE |RELAR 10A9H
1m 0.09 0.09
50cm 0.26 0.24
108 =T #HELAR |[EXRLUFHEOHZRLE 9A25H
1m 0.25 0.24
50cm 0.08 0.09
109 BEm #HEAR |HHoE 1083A
1m 0.09 0.09
50cm 0.12 0.13
110 =T #HEAR |BERIBRKLE 98278
1m 0.12 0.13
50cm 0.13 0.1
11 BEm #HELAR |HhhLE 1084AR
1m 0.12 0.11
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EERRERFHRE-SAVIAEEHHAREE11E)FER
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[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (L Sv/h)
— NE S
FHET AT K4 NEERH BZ | soom | (h-amOFHE) =
. 5@ #10E
FERFR REMER
50cm 0.11 0.11
=T #HEAR |REAE 1084AR
1m 0.11 0.11
50cm 0.09 0.10
=T HEAR |—AR2aE 10848
im 0.10 0.10
50cm 0.11 0.11
=T #HEAR |BALE 1084AR
im 0.11 0.11
50cm 0.07 0.08
=T #HEAR |[EmeFE22E 9A30H
1m 0.07 0.07
50cm 0.11 0.11
=T #HEAR |mRAHEINE 9A30H
1m 0.11 0.11
50cm 0.10 0.09
=T HEAR |[FAMeFE4NE 9A30H
1m 0.10 0.10
50cm 0.10 0.10
=T #HELAR |HSUVELE 9A30H
1m 0.09 0.10
50cm 0.10 0.10
=T #HELAR |AOWmEHE12E 10A4H8
im 0.10 0.10
50cm 0.1
=T #HELAE |AowmeE20HE 10A4H FE10EIETEFICKYBIERT
Tm 0.1
50cm 0.10 0.10
=T HEAR |EARAE 1084AR
1m 0.10 0.09
50cm 0.09 0.09
=T #HELAR |[EBEXRFILE 10878
1m 0.09 0.09
50cm 0.09 0.09
=T HERAR BB 10878
1m 0.09 0.09
50cm 0.13 0.13
=T #HELAR |[BESNHLV/I—Y 9A24H
1m 0.12 0.13
50cm 0.19 0.20
=T HERAR |HFHETHFi 1083A
1m 0.20 0.21
50cm 0.12 0.12
=T HRAR |=BsnbHOAE 10878
1m 0.12 0.11
50cm 0.09 0.09
=T HERAR |RALE 10878
1m 0.10 0.10
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EERRERFHRE-SAVIAEEHHAREE11E)FER
SHTEOH24H~10810AE)

BFhRE
BBR

B hxd SRAER (RUETHRYE)
KEXF A (RFHYD

BESS | ZHRERAEE (L Sv/h)
— NE S
No. |  hETH K4 NEERH BE | soom | (hs-aBOFIE) EE
fm 5@ %10
FERFR REMER
50cm 0.09 0.08
128 BEm HRAR |2V EXRMISLE 1083A
1m 0.10 0.08
50cm 0.10 0.09
129 BEm HRAR |2V EXRE2ELE 1083A
1m 0.09 0.09
50cm 0.13 0.15
130 E=1=hi HRAR |FBKEFELZOMAE 9H24H
1m 0.14 0.15
- 50cm 0.16 0.17
= - BKIEFEZOEELERN
131 | f#@EE® HRAE |27 10A78
. im 0.15 0.16
50cm 0.16 0.17
132 E=1=hi #HERAE ([LOSEHLAR 10A7H
1m 0.16 0.17
50cm 0.11 0.10
133 [=1=T HEAE |[WNIEFE20E 10878
1m 0.11 0.10
50cm 0.10 0.09
134 BEm HERAR |FYALE 1088H
1m 0.10 0.10
50cm 0.07 0.08
135 E=1=hi HELAER |LOSAEFE1ILE 10A8H
1m 0.07 0.08
50cm 0.07 0.07
136 E=1=hi HELAER |LOSEFE20E 10A8H
1m 0.07 0.06
50cm 0.06 0.06
137 E=1=hi HELAE |LOSAESEILNE 10A8H
1m 0.07 0.07
50cm 0.07 0.07
138 E=1=hi HELAER |LOSEFEILNE 10A8H
1m 0.07 0.07
50cm 0.07 0.07
139 E=1=hi HELAE |LOSEESAE 10A8H
1m 0.06 0.07
50cm 0.06 0.07
140 E=1=hi HELAE |LOSEFELAE 10A8H
1m 0.06 0.08
50cm 0.08 0.07
141 E=1=hi HELAE |LOSEETLAE 10A8H
1m 0.08 0.08
50cm 0.10 0.10
= - TRXR=a—491840
142 =T HELAE 10A7H
. im 0.10 0.1
50cm 0.10 0.09
= - TRR=a—4H 280
143 =T HELAE 9A25H
= im 0.09 0.09
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EERRERFHRE-SAVIAEEHHAREE11E)FER
SHTEOH24H~10810AE)

BFhRE
BBR

B hxd SRAER (RUETHRYE)
KEXF A (RFHYD

BESS | ZHRERAEE (L Sv/h)
. NE S
No. |  hETH K4 NEERH BE | soom | (hs-aBOFIE) EE
fm 5@ %10
FERFR REMER
50cm 0.09 0.09
= - RXR=a2—4923840
144 =T HELAE 10A7AH
= im 0.09 0.09
50cm 0.07 0.07
145 BEm #HRXLR |EERIEFE12E 10A8H
1m 0.07 0.07
50cm 0.07 0.08
146 BEm #HRXLR |EERIEFE20E 10A8H
1m 0.07 0.08
50cm 0.07 0.07
147 BEm HEAR | KFHLARE 1089A
1m 0.07 0.07
50cm 0.11 0.11
148 =T #HEAR |fRiEaE 1083A
1m 0.10 0.11
50cm 0.12 0.12
149 BEm #HELAR |FEBEFEKLE 1083A
1m 0.12 0.12
50cm 0.10 0.1
150 [=1=T HELAE |SHEAE 9H27RH
1m 0.10 0.11
50cm 0.09 0.10
151 [=1=T HEAE [EKHAE 9H25H
1m 0.09 0.10
50cm 0.14 0.16
152 =T #HEAR |FREAR 9827H
1m 0.14 0.15
50cm 0.11 0.10
153 [=1=T HEAE |0&KEYLE 9H27RH
1m 0.10 0.10
50cm 0.09 0.10
154 BEm HEAR |EHE14E 10878
1m 0.09 0.10
50cm 0.08 0.10
155 BEm #HEAR |BERAR 9827H
1m 0.08 0.09
50cm 0.10 0.10
156 BEm #HERAE (ITBFALE 98278
1m 0.10 0.11
50cm 0.11 0.10
157 BEm #HEAR |N\TERELE 10878
1m 0.10 0.10
50cm 0.13 0.13
158 BEm HRAR |UbhA52E 9H26H
1m 0.13 0.14
50cm 0.13 0.14
159 BEm HRAR |E=BEILE 10878
1m 0.13 0.14
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BERBRERFBRE=FIT

RAEGFHLARFF11EDHER
(SMTE9A248~108108EHE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (L Sv/h)
. NE S
No. |  THETH R4 INAELL BZ | soom | (h-amOFHE) o
. 5@ %10M
FERFR REMER
50cm 0.07 0.07
160 =T #HEAR |FHHLE 10878
1m 0.07 0.07
50cm 0.10 0.09
ikl
1m 0.09 0.09
161 =t HELAE |HFEETAE 9A24R e
50cm 0.09 0.10
RAILRES
1m 0.10 0.10
50cm 0.15 0.13
162 =T HERAR |TALARE 1084AR
1m 0.15 0.13
50cm 0.12
163 =T #HEAR |BREAR 9826H FE10EIFTEFICKYBIERT
Tm 0.12
50cm 0.08 0.08
164 =T HERAR |#HELoE 10818
1m 0.08 0.08
50cm 0.08 0.08
165 [=1=T HEAE |RIaE 9A25H
1m 0.08 0.08
50cm 0.11 0.11
166 [=1=T HEAE | aE 9A25H
1m 0.10 0.11
50cm 0.09 0.09
167 B|Em HEAR |FaoE 9H26H
1m 0.08 0.09
50cm 0.09 0.09
168 =T #HEAR |FmEHAR 9826H
1m 0.09 0.09
50cm 0.11 0.10
169 =T #HEAR |HELE 9R26H
1m 0.10 0.10
50cm 0.10 0.09
170 =T HEAR |[BoKkaE 9R26H
1m 0.09 0.10
50cm 0.08 0.08
171 [=1=T #HEAR |FLRBARE 9827H
1m 0.08 0.08
50cm 0.10 0.1
172 =T #HEAR |ERAE 9827H
1m 0.10 0.11
50cm 0.10 0.10
173 B|Em #HERAR [BLoBGE=—AR) 10A1H
1m 0.10 0.11
50cm 0.07 0.08
174 B|Em #HEXAR |ZFeE 10A3H
1m 0.08 0.08
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EERREMSHEE-4U VT HRE EHLAREF11E)FER
(SMTE9A248~108108EHE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (L Sv/h)
. NE S
FHET AT K4 INAELL BZ | soom | (h-amOFHE) =
. 5@ #10E
FERFR REMER
50cm 0.09 0.10
E=1=h #HRXAR |(\a2E 10A3H
1m 0.09 0.09
50cm 0.10 0.10
=T #HEAR |ABAR 1083A
im 0.09 0.10
50cm 0.08 0.09
wem HEAR |/ ALE 9A25H
im 0.08 0.10
50cm 0.09 0.10
=T HEAE |[ShFERLE 9826H
im 0.10 0.10
50cm 0.18 0.18
=T 2B EXILEH 9A25H F10E2EELTFEXRLUEE
1m 0.18 0.18
50cm 0.12 0.13
=T 2B UER 1088H
1m 0.12 0.13
50cm 0.11 0.10
=T & EXKZE 1084AR
1m 0.10 0.11
50cm 0.11 0.12
UNELE]
1m 0.11 0.12
BT Rl FHEZE 98268 e
50cm 0.11 0.12
NEip]
1m 0.11 0.11
50cm 0.09 0.09
=T & A OHEzHE 1084AR
1m 0.09 0.09
50cm 0.07 0.06
F1ETEEG
1m 0.07 0.07
50cm 0.07 0.07
¥E2EFEHIG
1m 0.07 0.07
BT o |EEQE 1088A ]
50cm 0.07 0.05
¥ 3EIEIS
1m 0.06 0.06
50cm 0.08 0.08
NE|
1m 0.09 0.08
50cm 0.10 0.10
=T HRAR |E+ZERAR 10818
1m 0.10 0.10
50cm 0.11 0.11
=T HERAR |HEF20E 10A8H
im 0.11 0.11
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EERREMSHEE-4U VT HRE EHLAREF11E)FER
SHTEOH24H~10810AE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | EMRERATME (L Sv/h)
HE NS
No. TETA X5 N F! a 50cm (PR-4FBDFYIE) {EE
m S0 %10@
RERER AEHR
50cm 0.07 0.07
187 =T HEAR |LABIESLE 10A9H
1m 0.07 0.07

¥ TE10RAERRILIT. FRI0F10A4BM510A26 BICEHELI-MESRBRRMSHRE=2)JRE@HLAESFE10E) B+ HAEHR.
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